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1. 名词，主语 

和学生讲解的重点： 主语只能是名词或者是名词性质的东西（包括代词、数词、

动名词等） 

 

1 Sort and recycle waste would decrease pollution.     

错误的原因：sort 和 recycle 都是动词，不能充当主语 

提升的句子：Sorting and recycling waste would decrease the pollution caused 

by waste.  

 

2 Study some difficult subjects can allow students to live a successful life in the 

future. 

错误的原因：study 是动词，不能做主语 

提升的句子：Studying some difficult subjects can help students improve skills 

and increase knowledge that contributes to their success in their career. 

 

3 Young people study abroad can find work easily.  

错误的原因：young people study abroad 独立的句子，不能做主语。 

提升的句子:  By studying abroad, young people can find work easily.  

 

4 Children imitate criminals have behavioural problems.  

错误的原因：Children imitate criminals 独立的句子，不能做主语。 

提升的句子: Children imitate criminals shown on TV and have behavioural 

problems.  

 

5 The government support the good students from poor families can help them 

continue the university education. 

错误的原因：独立的句子不能充当另外一个句子的主语 

正确的句子：the financial support from the government can help good students 

from poor families to continue their studies. 

 

2. 名词，宾语 

宾语只能是名词，代词一类的东西， 不能是句子， 也不能是动词 
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1 This causes global temperatures rise.  

错误的原因：global temperature rise 是个独立的句子，不能放在及物动词 cause

后面 

正确的句子：This causes global temperatures to rise. 

 

2 Governments take more actions to prevent crimes can have a deterrent 

effect on offenders 

错误的原因：主句不能充当句子的主语。 

提升的句子：Some measures taken by the government, such as a long prison 

term, can have a deterrent effect on offenders. 

 

3 Limiting children’s screen time can cause children maintain enthusiasm for studies.  

错误的原因：cause 后面只能加名词，不能加句子 

提升的句子：Children can maintain enthusiasm for studies, if their screen time is 

limited. 

 

4 Surfing the Internet can help old people do not feel isolated and lonely. 

错误的原因：help 及物动词，后面不能加一个句子。 

提升的句子：Old people will not feel isolated and lonely, if they surf the Internet or 

do leisure activities. 

 

5 Fashion shows have attracted a large number of people concentrate on the latest 

trend.  

错误的原因：attract 后面不能加句子。 

提升的句子：Fashion shows have attracted a large number of people by showing 

them the latest trend. 

 

people should pay attention to develop positive qualities and acquire more practical 

experience.  

错误的原因：Pay attention to 是个动词词组，后面只能加名词 

提升的句子：people should pay attention to their character and practical experience. 

3. 主语和谓语动词要意思匹配  

1 A person who pays more attention to his achievement will cause lots of arguments 

in his working life. 

错误的原因：a person 不能说 cause arguments，只有一个事情才可以 cause 

arguments  

提升的句子：People may have arguments from time to time, if they are obsessed 

with personal achievements.  

 

2 Young people at school not only acquire knowledge but also regulate their 



手把手网络教育 

课程咨询请联系企业 QQ800153287 

behaviors. 

错误的原因：人不能 regulate behaviour. 只有规则，政府这样的东西可以 regulate 

提升的句子：Young people at school not only acquire knowledge but also learn good 

manners.  

 

3 Poor people will be able to narrow the gap between them and the rich.  

错误的原因：人不能 narrow the gap，是一个行为才可以 narrow the gap 

提升的句子：Technology can bring economic opportunities to ordinary people and 

narrow the gap between rich and poor. 

 

4 Well-educated people can improve social productivity. 

错误的原因：人是不能够提高社会生产力 

提升的句子：Well-educated people are highly productive. 

 

 

5 companies relying on technology and machines can enhance the quality of 

products. 

错误的原因：companies 不能提高产品质量，科技可以 

提升的句子：Technology and machines can improve the quality of products 

produced by companies. 

4. 可数名词的裸奔 

1 This policy has positive effect on companies. 

错误的原因：effect 是可数名词 

正确的句子：This policy has a positive effect on companies. 

 

2 First of all, people from disadvantaged background are not willing to spend 

money on environmentally friendly product. 

错误的原因：background 和 product 都不用复数 

提升的句子：First of all, people from disadvantaged backgrounds are not willing 

spend money on environmentally friendly products. 

 

3 Books、films and the internet have provided people with opportunity to learn 

about other cultures. 

错误的原因：Opportunity 可数，要有复数 

提升的句子：Books、 films and the internet have provided people with 

opportunities to increase their knowledge about other cultures. 

 

4 There are some actions school should take to make education more 

interesting and practical. 

错误的原因：school 可数名词要加复数  action 不可数 
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提升的句子：Schools should take action to make education more interesting 

and practical. 

 

5 Manufacturer should provide more products to support people. 

错误的原因：manufacturer 可数名词不裸奔  

提升的句子：Manufacturers should provide more products to satisfy the needs 

of people. 

 

5. 形容词+可数名词的裸奔 

 

1 Heavy workload is another reason why young people feel less happy than 

before. 

错误的原因： workload 可数名词不裸奔   

提升的句子：The heavy workload is another reason why many young people 

today feel less happy than before. 

 

2 People in rural area can sell handicrafts and fresh produce online.  

错误的原因：area 可数名词，要加复数. 

提升的句子：People in rural areas can sell handicrafts and fresh products online. 

 

3 These social media platforms can provide them with a very convenient way to 

maintain strong relationship. 

错误的原因：relationship 可数名词，要加冠词或者复数 

提升的句子：These social media platforms can provide them with a very convenient 

way to maintain a strong relationship with friends and colleagues. 

 

4 Tourists from developed country may find it difficult to adapt to local environment. 

错误的原因：country 和 environment 可数名词，要有冠词或者复数 

提升的句子：tourists from developed countries may find it difficult to adapt to the 

local environment. 

 

5 There is no doubt that hotel and restaurant industry has been growing rapidly.  

错误的原因：hotel,restaurant ,industry 是可数名词，要加冠词 

提升的句子：There is no doubt that the hotel and restaurant industry has been 

growing rapidly. 

6. 不可数名词前面不加 a 或者 an  

1 It is not easy to find a full-time employment. 
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错误的原因：Employment 不可数名词，不能加冠词 a 

正确的句子：It is not easy to find a full-time job. 

 

2 Students will have a bad academic performance and do not have confidence. 

错误的原因：performance 表示“表现”的时候，大部分时候是不可数名词 

提升的句子：Students do not perform well at school because of the lack of 

confidence. 

 

3 People from deprived backgrounds have opportunities to have access to a 

high-skilled work by studying specialized knowledge. 

错误的原因：work 不可数，不能够有冠词 

提升的句子：people from deprived backgrounds have opportunities to acquire 

specialised knowledge and do skilled work. 

 

4 Poor students are able to have an equal access to education. 

错误的原因：access 不可数 

提升的句子：poor students have equal access to education. 

 

5 Teachers can receive a specialised training to learn how to teach students 

effectively.  

错误的原因：training 不可数，不能加冠词 

提升的句子： 

Teachers can receive specialised training to learn how to teach students effectively. 

7. 不可数名词没有复数 

 

1 For example, people who work in large cities or overseas can have higher pay and 

fulfil their potentials. 

错误的原因：potential 不可数,fulfill 拼写错误 

正确的句子：For example, people who work in large cities or overseas can have 

higher pay and fulfill their potential. 

 

2 Some young people can receive trainings. 

错误的原因：training 不可数 

正确的句子：Some young people can receive training.  

 

3 If deprived students obtain economic aids from others, they may understand the 

importance of giving and form a positive attitude toward life. 

错误的原因：aid 不可数名词，加 S 以后是专有名词 AIDS  .应该是 towards 

提升的句子：if deprived students gain financial support from others, they may 

understand the importance of giving and form a positive attitude towards life. 
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4 it is wise for them to reduce pollutions in order to avoid the tax. 

错误的原因：pollution 不可数名词 

提升的句子：It is wise for them to reduce pollution in order to avoid the tax burden. 

 

5 Teachers provide children with academic supports at school, while parents play an 

essential role in developing children’ creativity  

错误的原因：support 不可数  

提升的句子：Teachers provide children with academic support at school, while 

parents can play an essential role in children’s creativity. 

 

8. 可数名词的复数不能加 s 

 

1 visitors find it hard to talk with hotel staffs  

错误的原因：staff 本身已经是复数，不能加 s 

提升的句子：Foreign visitors find it had to communicate with the staff of local hotels. 

 

2 News medias, including magazines and the internet, have shown people a lot of 

beautiful patterns of clothes.  

错误的原因：media 本身就是一个名词的复数，不能加 s 

提升的句子：News media, including magazines and the internet, have shown people 

a lot of beautiful patterns of clothes. 

 

3 Mothers can use boiling water to disinfect everything to protect children from 

bacterias.  

错误的原因：bacteria 本身已经是复数，不用加 s 

提升的句子：Mothers can use boiling water to disinfect everything to protect 

children from bacteria.  

 

4  

9. 一定要加名词复数的限定词 

1 People today have wider access to a variety of information due to the development 

of information technology. 

错误的原因： a variety of 后面一般加可数名词复数 

提升的句子：People today have wider access to information due to the development 

of the information technology. 
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2 People can gain diverse knowledge  by learning history to  advance their career. 

错误的原因：diverse 后面要加名词复数 

提升的句子：People can become more knowledgeable and advance their career by 

learning history. 

 

3 In the modern world, people spend  a few time on doing exercise although it is 

known that exercise is essential to their health. 

错误的原因：a few 不修饰不可数名词  

提升的句子：People spend little time doing exercise although they know that 

exercise is essential to their health. 

 

4 Children from poor homes have few opportunity to receive education.  

错误的原因：  few 后面要加可数名词复数 

正确的句子：Children from poor homes have few opportunities to receive education.  

 

5 One of the biggest problem of education is that it can cost a lot of money. 

错误的原因： one of 后面要加名词复数   

提升的句子：one of the biggest problems of education is that it can cost a lot of 

money. 

 

 

6 It will cost numerous money.  

错误的原因：numerous 要修饰可数名词复数,而 money 不可数，要改成 a large 

amount of money 

正确的句子：It will cost a large amount of money.  

 

7 Employing similar quantity of men and women in all position is not beneficial to a 

company’s development 

错误的原因：all +可数名词的话，名词要加复数。quantity 不能修饰人， 

提升的句子：Employing similar numbers of men and women in all positions is not 

beneficial to a company’s development.  

 

8  living in small family units makes people have fewer contact with their relatives 

错误的原因：few 或者 a few 后面要加可数名词的复数。 

提升的句子：People living in small family units have less contact with relatives than 

those living with extended families.  

 

10. 一定要加不可数名词的限定词  

1 Excellent athletes might not suffer as much as health problems as ordinary people.  

错误的原因：much 后要接不可数名词，不可以加可数名词的复数。 
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提升的句子：Excellent athletes are less likely to suffer health problems. 

2  Governments can provide special funds to protect languages which are only 

spoken by limited amount of people 

错误的原因：amount of 后面不能加人，动物，这些个体有区分的单词 

提升的句子：Governments can provide special funds to protect languages which are 

only spoken by a limited number of people. 

 

 

11. This, these, other, the other, another 等限定词的单复数限

制  

 

1 These knowledge is important to students.  

错误的原因：  knowledge 不可数名词，不能和 these 连用 

正确的句子：this kind of knowledge is important to students.  

 

2 The government should invest money in another public welfare. 

错误的原因：welfare 不可数名词，前面不可能用 another 

提升的句子：The government should invest money in other public services. 

 

3 Most children are not able to understand those international news on television 

错误的原因：news 不可数名词，前面不能加 those 

提升的句子：Most children are not able to understand international news. 

 

4 Other benefit of using hi-technology is that poor people have more opportunities 

to earn money  

错误的原因：other 后面一般加复数 

提升的句子：Another benefit of using hi-technology is that poor people have more 

opportunities to earn money. 

 

 

12. 除非特指，不要加定冠词  

1 Learning can be personalised to help the students.  

错误的原因：students 这里泛指所有的学生，不需要特指 

正确的句子：Learning can be personalised to help students.  

如果你特指有学习有困难的学生，可以特指 
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2 As a result of it, they do not finish the homework and do not go to the school. 

错误的原因：homework 不可数名词，不需要加定冠词，go to school 词伙，不需

要加定冠词 

提升的句子：As a result of it, they do not finish homework and go to school. 

 

3  We can acquire the knowledge by reading books.  

错误的原因：knowledge 不可数名词，不是特指就不要 the 

提升的句子：We can acquire knowledge by reading books.  

 

4 Though mechanical farming has improved the productivity, actually it has an 

adverse impact on the economy of the rural community. 

错误的原因：productivity 不可数名词，不是特指就不要 the 

提升的句子：Though mechanical farming has improved productivity, actually it has 

an adverse impact on the economy of the rural community. 

 

5 crime can pose a threat to the social stability.  

错误的原因：stability 不可数名词，不要加 the 

提升的句子： crime can pose a threat to social stability.  

 

13. 冠词用 a 还是 an  

 

1 News media are a important influence on the public.  

错误的原因：important 元音开头，应该是 an 

正确的句子：News media are an important influence on the public.  

 

2 An decreasing number of people speak local languages. 

错误的原因：an+元音开头的单词 

提升的句子：As the number of people using a language declines, we tend to have a 

poor understanding  of the culture related to this language.  

 

3 People in these fields deserve a higher salary because a outstanding person needs 

talent to succeed.  

错误的原因：outstanding 前面应该加冠词 an 

提升的句子：people in these fields deserve a higher salary because only outstanding 

people with real talent can succeed. 
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4 The proportion of males saw an significant decrease to 43.2%。  

错误的原因：significant 前面不能用 an，只能用 a 

提升的句子：The proportion of males saw a significant decrease to 43.2%。 

 

5 A engineer who is well-informed about all theories about different mechanical 

problems can design and improve machines.  

错误的原因：engineer 的冠词是 an 

提升的句子：An engineer who is well-informed about all theories about different 

mechanical problems can design and improve machines. 

 

14. 数不一致  

1 Workers try to upgrade skills to be a manager, salesman or designer. 

错误的原因：Manager 是单数，workers 是复数 

提升的句子：Workers try to upgrade skills to work as managers, marketers or 

designers. 

 

2 Studying in another country enables students to become a more excellent person.  

错误的原因：students 和 person 不一致 

提升的句子：studying in another country can make students excellent workers or 

entrepreneurs. 

 

3 If an individual pays too much attention on their targets, they may be unwilling to 

work with others. 

错误的原因：数不一致，从句主语是单数，后面用的 they。 

提升的句子：People who pay too much attention on their targets may be unwilling 

to work with others. 

 

    

4 People could have a party with their friends to spend spare time.  

错误的原因：数不一致，people 不可能只有一个 party。 

提升的句子：People could have parties with their friends to spend spare time.   

 

 

 

15. 谓语，及物动词 

1 Machines enable to complete tasks efficiently.  
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错误的原因：  Enable 是个及物动词，要有宾语. 

正确的句子：Machines enable us to complete tasks efficiently.  

 

2 Visiting to museums is beneficial to the protection of cultural heritage. 

错误的原因：visit 是及物动词，不用加 to 

提升的句子：Museums can help protect cultural heritage. 

 

3 Most problems caused by a lack of money will eliminate 

错误的原因：eliminate 及物动词，要么被动，要么加宾语。 

提升的句子：Most problems caused by a lack of money will disappear. 

 

4 Some students may follow their friends to skip classes or addict to computer 

games. 

错误的原因：addict 是个及物动词，不能够不加宾语，或者使用被动语态 

提升的句子：Some students may follow their friends to skip classes or get 

addicted to computer games. 

 

5 Employers would not give these employees more opportunities to promote 

错误的原因：promote 及物动词，要用被动语态，或者是加宾语 

提升的句子：Employers would not give these employees more opportunities to 

get promoted. 

16. 及物动词和名词的混淆 

 

1 People can contact with their friends easily by using mobile phones.  

错误的原因：这里的 contact 是个及物动词 

正确的句子：People can contact their friends easily by using mobile phones.  

People can maintain contact with their friends easily by using mobile phones.  

 

2 Overworking may danger people’s health in the long term.    

错误的原因：danger 做动词意义可以改为 endanger，danger 本身是名词 
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提升的句子：overworking may endanger people’s health in the long term. 

 

3 They can analysis those events happening in other countries.  

错误的原因：analysis 是个名词 

提升的句子：They can analyse international events happening in other 

countries. 

 

4 Authorities should make every one access to free tertiary education 

错误的原因：make somebody + do，而 access to 的 access 是个名词 

提升的句子：Authorities should make sure that everybody has free access to 

higher education. 

 

5 Parents should company their children to go camping.  

错误的原因：company 表示陪伴的时候，是个名词。 

提升的句子：Parents should accompany their children to go camping. 

 

 

17. 主谓不一致，谓语单数的情况  

 

1 It is common knowledge that fast food normally contain high fat. 

错误的原因： Fast food 不可数名词， 后面的动词 contain 用单数 

正确的句子：It is common knowledge that fast food normally contains high fat. 

2 Advanced technology have a detrimental impact on the environment. 

错误的原因：主谓不一致，technology 这个时候是不可数名词 

提升的句子：The application of advanced technology sometimes has a 

damaging effect on the environment. 

 

3 Shopping on the Internet provide many choices for sellers and buyers. 

错误的原因：“shopping”动名词做主语，谓语动词应该用单数“provides” 

正确的句子：Shopping on the Internet provides many choices for sellers and buyers. 

 

4 The number of  young offenders have increased dramatically.  

错误的原因：主语是 number，而不是 offenders，主谓不一致 

提升的句子：The number of  young offenders has increased dramatically.  

 

5 The coverage of violent crime and sex assaults have an influence on viewers' 

behaviour.  

错误的原因：主语是 coverage，不可数名词，主谓不一致 
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提升的句子：The coverage of violent crime and sex assaults has an influence on 

viewers' behaviour. 

 

18. 助动词和情态动词语义不明  

 

1 Those athletes who do not have a good mental attitude cannot perform well.  

错误的原因：cannot 是不能的意思，这里应该是 will not，表现好不了。这些运

动员不是没有能力表现好，而是表现好不了。 

提升的句子：Those athletes who do not have a good mental attitude will not 

perform well.   

19. 情态动词+do  

1 Graduates will more easily to find a good job.  

错误的原因：情态动词一般都要加动词原形 

提升的句子：Graduates will find a good job easily.  

 

2 Reading will possibly broadening horizons.  

错误的原因：broadening 是分词，变成 broaden  

正确的句子：Reading will possibly broaden readers’ horizons. 

 

3 People need to spend unnecessary time on road because of traffic jams, which may 

reduces their spare time and increases their negative mood. 

错误的原因：may 是情态动词，后面要加动词原形 

提升的句子：People need to spend extra time on the road because of heavy traffic, 

which may reduce their spare time and affect their mood. 

 

4 People should to be friendly to each other and dress formally on these occasions.  

错误的原因：should 后面只能加 do，或者 be 动词 

提升的句子：People should be friendly to each other and dress formally on these 

occasions.  

 

5 To be specific, people can benefits from sharing information with others. 

错误的原因：情态动词后面加动词原形 

提升的句子： To be specific, people can benefit from sharing information with 

others. 
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20. 情态动词和助动词重复  

 

1 The shortage of water is cannot attract worldwide attention. 

错误的原因：is 是进行时态的助动词，而 can 是另外一个助动词 

正确的句子：The shortage of water is attracting worldwide attention. 

 

2 They may do not have enough money to send their children to prestigious school.  

错误的原因：助动词 do 前面不能有情态动词 

提升的句子：They may not have enough money to send their children to prestigious 

schools.  

 

3 Some people like the poor and the elderly  may do not benefit from these modern 

communication tools.  

错误的原因：助动词 do 前面不能有情态动词 

提升的句子：some people like the poor and the elderly  may not benefit from these 

modern communication tools. 

 

、 

21. 动词原形之前永远不能加 be 动词  

 

1 cultures are differ from country to country  

错误的原因：“be+动词原形” 永远是错的，将 are 去掉 

正确的句子：cultures differ from country to country.  

 

2 Doing exercise regularly is very important to physical health, especially walking, but 

people are seem to walk less at present. 

错误的原因：be+do 永远都错 

提升的句子：Doing exercise regularly is very important to physical health, but people 

seem to walk less today.  

 

3 At present, most school are focus on students’ exam grades. 

错误的原因：“be+do”是错的  

提升的句子：At present, most schools focus on children’s exam grades. 

 

4 It is also cause some problems and economic benefits. 

错误的原因：be+do 永远是错的 

提升的句子：It has caused problems, despite economic benefits. 
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5 Mechanisation may be have a positive effect on a country's economy.  

错误的原因：动词原形前面永远不能加 be 

提升的句子：Mechanisation may have a positive effect on a country's economy. 

 

22. 不及物动词不能够直接加名词作宾语 

1 Many people disagree this idea.  

错误的原因：  Disagree 不及物动词，需要加介词 

正确的句子：Many people disagree with this idea. 

 

2 Participating extra-curricular activities can help students develop a wide range of 

skills. 

错误的原因：participate 是不及物动词，后面要有介词 

提升的句子：Participating in extra-curricular activities can help students develop a 

wide range of skills. 

 

23. 及物动词不需要加介词，就可以加宾语  

 

1 Some students have chosen to study in farming. 

错误的原因：study 及物动词，不用加介词 

提升的句子：Some students have chosen to take courses in farming. 

 

2 The classroom provides with the atmosphere for learning.  

错误的原因：provide 及物动词，不需要加介词。  

提升的句子：The classroom provides the atmosphere for learning. 

 

3 Doing unpaid work and helping others can make people live in a happy life.  

错误的原因：live 直接加宾语，不需要加介词 

提升的句子：People can live a happy life by doing unpaid work and helping others.   

 

4 Governments should fund on films produced by domestic filmmakers.  

错误的原因：fund 是个及物动词，不需要加介词 

提升的句子：Governments should fund those films produced by domestic 

filmmakers. 

 

5 Employers emphasise on qualifications because well-educated workers are 

innovators.  

错误的原因：emphasise 是个及物动词，不需要加介词 
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提升的句子：Employers put emphasis on qualifications because well-educated 

workers are innovators. 

24. 及物动词不能裸奔  

1 The government can encourage companies to involve in these industries.  

错误的原因：involve 是个及物动词，不能裸奔 

提升的句子：The government can encourage companies to be involved in the 

development of these industries.  

25. 不及物动词和系动词没有被动语态  

1 The water consumption for agriculture was remained basically unchanged.  

错误的原因：remain 系动词，没有被动语态 

提升的句子：The water consumption for agriculture remained basically 

unchanged.  

 

2 Those patients who suffer from fatal diseases are most benefited. 

错误的原因：benefit 不及物动词，没有被动语态 

提升的句子：Those patients who suffer from fatal diseases are among the most 

affected. 

 

3 People can find good jobs when they are graduated.  

错误的原因：”are graduated” 改成 graduate,不及物动词没有被动语态 

正确的句子：People can find good jobs when they graduate. 

 

4 Children have been become excellent communicators by learning communication 

skills at school. 

错误的原因：become 是个系动词，前面不需要加 be 动词 

提升的句子： Children have become excellent communicators by learning 

communication skills at school. 

 

5 Disadvantaged people are hardly show up.  

错误的原因：show up 是不及物动词词组，不能有被动 

提升的句子：Disadvantaged people hardly show up on these occasions. 

26. 主语和表语要匹配  

1 People are easy to misunderstand local customs and habits.  
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错误的原因：easy 只能说一个事情的难易，而不能说人。 

提升的句子：People are likely to misunderstand local customs and habits. 

 

2 Athletes might be more easily to suffer the pain caused by injuries in the rest of 

their lives.  

错误的原因：easily 是个副词，“容易地”，不能修饰主语 athletes 

提升的句子：Some athletes are likely to suffer the pain caused by injuries in the rest 

of their lives. 

 

3 The young generation often feel stressful because the cost of living is high 

错误的原因：表语和主语不一致，人不能说 stressful，只有工作和生活是 stressful 

提升的句子：Many young people feel stressed because the cost of living is high 

 

4 People now become lack of self-discipline 

错误的原因：表语和主语不一致，lack 是缺乏的意思，缺乏是一个问题，不是人。 

提升的句子：People now are not well-disciplined. 

 

5 It is more effectively to attend lectures and listen to professors.  

错误的原因：effectively 是个副词，不能修饰主语。 

提升的句子：It is helpful to attend lectures and listen to professors.  

 

 

 

27. 被动语态或者是主系表结构没有加 be 动词  

 

1 Children can interested in reading if they develop this habit from a young age.  

错误的原因：主句是主系表结构，缺乏系动词 

正确的句子：children can be interested in reading if they develop this habit from a 

young age. 

 

2 People might also go into credit card debts and not able to financially support 

themselves 

错误的原因：able 是个形容词， 前面少了系动词 

提升的句子：people might also go into credit card debts and cannot maintain a 

reasonable standard of living. 

 

3 Parents may also responsible for their children’s behaviours. 

错误的原因：responsible 是形容词，缺乏系动词 

提升的句子：Parents may also be responsible for their children’s behaviours. 
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4  Those factories may less likely to dump toxic waste into rivers 

错误的原因：谓语少了个 be 动词，likely 是形容词 

提升的句子：Factories may be less likely to dump toxic waste into rivers. 

 

5 Parents may not only able to experience an improved standard of living but also 

send their children to the best schools. 

错误的原因：able 是个形容词，少了个 be 动词 

提升的句子：Parents may not only be able to experience an improved standard of 

living but also send their children to the best schools. 

 

28. 动词+宾+宾补和动词+双宾结构不能搞错  

 

1 Paying taxes can prompt countries’ infrastructure construction. 

错误的原因：prompt 一般是后面加宾语和宾补 prompt somebody to do 

something. 

提升的句子：Money from taxes can fill the funding gaps in countries’ 

infrastructure construction. 

 

2 Libraries can allow more people having access to theoretical knowledge and 

help them to gain new skills. 

错误的原因：allow somebody to do something  

提升的句子：Libraries allow more people to gain access to knowledge and help 

them gain new skills . 

 

3 Selling products, such as fresh produce, online can promote poor people to 

earn money.  

错误的原因：promote something，而没有 promote somebody to do something

的说法。 

提升的句子：Selling products, such as fresh produce, online enables poor 

people to earn money.  

 

4 Environmental problems can make people easier to get some diseases.  

错误的原因：easier 不能作为 people 的补语，因为人不能说 easier 

提升的句子：Environmental problems can increase the risk of diseases.  

 

29. 代词使用错误  

1 It is good to play sports games as leisure activities because it plays a vital role in 
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improving public health. 

错误的原因：从句的 it 是表示单数的代词，不能指代前面的 activities 和 games 

 

提升的句子：It is good to play sport in our leisure time because sports games can 

improve our health. 

 

2 The student learns to express himself meaning politely.  

错误的原因：代词不对，不应该是 himself 

提升的句子：The student learns to express his or her ideas politely.  

 

30. 独立的句子要有连词  

1 Many young people have chosen to study abroad, they want to have a broad 

view of the world.  

错误的原因：两个句子都是主谓宾结构，应该要有连词，否则就要写句号或者分

号 

正确的句子：Many young people have chosen to study abroad. They want to 

have a broad view of the world.  

 

2 Education decides children’s success in the future, the quality of it is also 

associated with the development of society 

错误的原因：两个句子没有连词 

提升的句子：Education is not only the key to children’s success but also 

essential to social progress.  

 

3 Incomes cannot meet the needs of life, these will put them under great 

pressure. 

错误的原因：两个独立的句子没有连词 

提升的句子：Incomes cannot cover basic needs, and they live under pressure 

because of this problem. 

 

4 Old people can surf the Internet to assess the latest news, it means that they 

would not be out of touch the world.  

错误的原因：前面一个句子是主谓宾结构，后面是宾语从句，独立的句子没有连

词 

提升的句子：Old people can surf the Internet to assess the latest news, and it 

means that they would not be out of touch the world. 

 

5 Higher personal incomes allow people to purchase many products, including 

fashionable clothes, otherwise, they may think they are behind the times. 
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错误的原因：otherwise 是副词，不能连接句子 

提升的句子：With higher personal incomes, people tend to purchase many 

products, including fashionable clothes; otherwise, they may think they are 

behind the times. 

 

 

31. 并列结构要有连词  

 

 

1 They can take good care of their family members, they also can enjoy happy time 

with their parents. 

错误的原因：没有连词 

提升的句子：They can take good care of their family members and spend quality 

time with parents. 

 

2 People have to work with a heavy workload, sometimes even have to work until 

late at night.  

错误的原因：两个句子没有连词 

提升的句子：people have to work with a heavy workload and sometimes even have 

to work until late at night. 

 

3 Players with a good mental attitude may overcome difficulties, thus win the 

championship.  

错误的原因：thus 是个副词，不能连接并列结构。 

提升的句子：Players with a good mental attitude may overcome difficulties and thus 

win the championship. 

 

32. 并列结构的主语要和分句的谓语匹配  

1 We can tackle problems more logically and boost the development of our society. 

错误的原因：主语和并列结构的后半部分不匹配，人不能说促进社会的发展。 

提升的句子：We can tackle problems more effectively and this can promote social 

progress.  

 

2 Busy people may miss some important things in their lives and influence their 
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work. 

错误的原因：并列结构的主语不匹配。 

提升的句子：Busy people may miss important things in their lives and perform 

poorly in the workplace. 

 

3 People can find relevant materials on the Internet and then improve their academic 

performance.   

错误的原因：人一般不能提高自己的学习效果。 

提升的句子：People can find relevant materials on the Internet and then deepen 

their understanding of the courses they attend. 

 

4 Acquiring knowledge in class is a rewarding learning experience and can receive 

lecturers’ guidance 

错误的原因：acquiring knowledge 这个动作不能成为 receive 的主语。 

提升的句子：Acquiring knowledge in class is a rewarding learning experience and 

can help students progress with lecturers’ guidance.  

 

 

5 Cold water flows through hot rocks and turned into hot water. 

错误的原因：后面分句的分词 turned 不能够充当主语 cold water 的谓语。 

提升的句子： 

Cold water flows through hot rocks and is heated. 

33. 滥用过去时 

1 Pollution became a serious problem.  

错误的原因：如果用 became（过去时），意味着环境问题过去是个问题，暗示

现在不是了。 

正确的句子：Pollution has become a serious problem.  

 

2 This is why many less-known languages became extinct. 

错误的原因：应该用完成时态表示结果，而过去时表示语言过去灭绝。 

提升的句子：This is why many less-known languages have become extinct. 

 

3 People spent time commuting on the road due to the traffic jams and less leisure 

time could increase people's negative emotions. 

错误的原因：1 spent 过去时没必要  2 and 前没有逗号，导致歧义 

提升的句子：People have to spend more time commuting due to traffic jams, and 

the reduction in leisure time can put them in a bad mood. 

 

4 When they completed a degree overseas, they could contribute to their country 

with knowledge.  
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错误的原因：过去时态一般是表示过去发生的事，现在不发生 

提升的句子：When they complete a degree overseas, they could contribute to their 

country with knowledge.  

 

5 There are two main reasons why these people did not take any action. 

错误的原因：时态错误 

提升的句子：There are two main reasons why these people do not take (or have not 

taken) any action. 

 

34. 使用完成时态的语境  

1 Recently, many people are interested in spending enormously on special occasions.  

错误的原因：Recently 的句子用完成时态比较多 

正确的句子：Recently, many people have been interested in spending enormously 

on special occasions.  

 

2 There is an increase in the rate of youth crime these years. 

错误的原因：in these years， 应该用完成时态 

提升的句子：There has been an increase in the rate of youth crime in these years. 

 

3 In recent years, the work market is increasing competitive and a great number of 

graduates fail to seek employment when they are leaving schools. 

错误的原因：时态的问题比较大，in recent years 应该用完成时态，而后面 are 

leaving 搞不清楚为什么用进行时 

提升的句子：The job market has become increasingly competitive in recent years, 

and a great number of graduates have failed to find employment when they leave 

school. 

 

35. 使用一般过去时的语境  

1 Most developed countries have experienced environment challenges in the last 

century. 

错误的原因：时态错误，in the last century 应该有过去时 

提升的句子：Most developed countries experienced environmental problems in the 

last century. 
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36. 介词不能加动词 

 

1 Library users have access to use computers and videos as educational resources. 

错误的原因：”access to”的 to 是介词，不能加动词“use”，去掉这个动词 

正确的句子：Library users have access to educational resources such as computers 

and videos 

 

2 We should spend more time for accompany our family . 

错误的原因：for 是介词，后面不能加动词的原形 

提升的句子：We should spend more time on our family life. 

 

3 People need to pay more attention to their family life, which is a key to make them 

happy. 

错误的原因：key to 的 to 是介词，后面要加名词 

提升的句子：People need to pay more attention to their family life, which is a key to 

happiness. 

 

4 The writing skill is the key to present one’s ideas, so it is necessary to acquire the 

basic knowledge of writing 

错误的原因：the key to 的 to 是介词 

提升的句子：Writing skills play a key role in presenting our ideas to readers. 

 

5 Teleworking has become a growing popular approach to run companies in the 

world. 

错误的原因：approach 的 to 是个介词 

提升的句子：Teleworking has become a popular way to manage staff for many 

companies in the world. 

 

37. 介词不能加句子 

1 Men prefer to talk about advance career.   

错误的原因：About 是介词，后面不能加动词或者句子，而 advance 是动词 

正确的句子：Men prefer to talk about career advancement.  

 

2 Cities are growing with more and more people come to cities 

错误的原因：with 是个介词，后面不能加句子 

提升的句子：Cities are growing  with more and more people moving to urban 

areas. 
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3 Despite the investment in rare language is of great importance to preserve 

language diversity, this can increase pressure on tax payers. 

错误的原因：despite 后面不加句子 

提升的句子：Despite the importance of preserving language diversity, protecting 

minority languages can increase pressure on taxpayers. 

 

4 The proportion of people went to the cinema decreased.  

错误的原因：of 介词，后面只能加名词，不可以加句子 

提升的句子：The proportion of people who went to the cinema decreased. 

 

5 Despite that the young generation can solve some problems by themselves, they 

also need others around them to aid them in achieving their goals. 

错误的原因：Despite 只能加名词，或者是 despite the fact that 同位语从句 

提升的句子：despite the fact that the young generation can solve some problems by 

themselves, they also need others around them to achieve their goals. 

 

 

38. 介词不能加副词 或者形容词  

 

1 In particularly, people working at office usually travel to and from work by car 

rather than by foot or bicycle. 

错误的原因：in particular 是固定的词伙；on foot 是固定的词伙 

提升的句子：Office workers in particular, travel to and from work by car rather 

than on foot or by bike. 

 

2 Urban life has an adverse impact on people’s healthy.  

错误的原因：on 是介词，后面只能加名词 

提升的句子：Urban life has an adverse impact on people’s health.  

 

3 They can use theoretical knowledge into practical in the workplace.  

错误的原因：practical 是形容词，不能放在介词后面 

提升的句子：They can put their theoretical knowledge into use in the 

workplace. 

 

4 To increase ratings as well as expand the readership, news organisations 

may not be trustworthy in sometimes  

错误的原因：sometimes 副词，不需要加介词 

提升的句子：To increase ratings as well as expand the readership, news 

organisations may sometimes present misleading information. 
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39. 介词搭配错误  

 

 

1 One solution of this problem is to raise children's awareness of resource 

conservation.  

错误的原因：solution 介词是 to 

提升的句子：One solution to this problem is to raise children's awareness of 

resource conservation.  

 

2 The main reasons of this issue include the lack of environmental awareness 

and the poor access to waste disposal facilities.  

错误的原因：reasons 后面要加 for 

提升的句子：The main reasons for this issue include the lack of environmental 

awareness and the poor access to waste disposal facilities. 

 

4 Travelling abroad is also helpful to practice travellers’ languages. 

错误的原因：helpful 的介词应该是用 in 

提升的句子：Travelling abroad can help travellers to practice a foreign 

language. 

 

5 Playing sports games can cultivate a sense of responsibility and the ability of 

solving problems 

错误的原因：ability 应该是 to do something 

提升的句子： 

Playing sports games can cultivate a sense of responsibility and improve 

players' ability to solve problems. 

40. 形容词只能修饰名词 

 

1 Well-educated people can settle conflicts easier.  

错误的原因：  easy 是形容词，不能修饰句子或者动词，改成 easily  

正确的句子：Some technologies can be used daily. 

 

2 Modern communication methods enable us to communicate across countries more 

convenient. 

错误的原因：convenient 形容词不能修饰动词 

提升的句子：Modern communication technology has made communication across 
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the world more convenient. 

 

3 People buy many cars and use cars excessive. . 

错误的原因：excessive 形容词，不能修饰动词 

提升的句子：People buy many cars, and the excessive car use has become a 

problem. 

 

4 The available of information and learning resources can bridge the income gap.  

错误的原因：available 是个形容词，不能做主语 

提升的句子：The easy access to information and learning resources can bridge the 

income gap. 

 

5 Some travellers drop litter careless, and they should be punished.  

错误的原因：careless 形容词，不能修饰动词 

提升的句子：Some travellers drop litter carelessly, and they should be punished.  

 

41. 形容词的比较级和最高级  

1 It is more easy for teenagers to get good grades in one subject they are good at. 

错误的原因：easy 的比较级是 easier， 

提升的句子：It is easier for teenagers to get good grades in one subject they are 

good at. 

 

2 The government only supports best students without considering the needs of 

disadvantaged young people  

错误的原因： best 前面要加 the 

提升的句子：The government only supports the best students without considering 

the needs of disadvantaged young people. 

 

3 People can surf the web for latest news reports.  

错误的原因：latest 最高级，少了一个定冠词 

提升的句子：People can surf the web to read the latest news reports. 

 

42. 副词一般不作表语 ，不修饰名词 

 

1 Communication has become more easily.  

错误的原因： 副词一般不能作表语，因为表语是修饰主语的，而形容词修饰名

词 
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正确的句子：Communication has become easier.  

 

2 if we spend time helping our neighbors, we may feel easily to go on well with each 

other.   

错误的原因：easily 副词，一般不作表语。 

提升的句子：if we spend time helping our neighbors, we may find it easier to build a 

close-knit community.   

 

3 The proportion of men saw a steadily increase to 46.7%.  

错误的原因：steadily 是个副词，不能修饰名词 

提升的句子：The proportion of men saw a steady increase to 46.7%. 

 

43. 逻辑主语错误  

 

1 Representing the unique and valuable asset of a country's culture and 

history, the government has the responsibility to protect the minority languages 

from extinction. 

错误的原因：分词的逻辑主语应该是 minority languages，而不是 government 

提升的句子：The government has the responsibility to protect minority 

languages, which represent a country's culture and history, from extinction. 

 

2 By helping the old, the disabled and the homeless, community cohesion can 

be enhanced 

错误的原因：community cohesion 不是 help 动作的发出者 

提升的句子：By helping the old, the disabled and the homeless, we can build a 

peaceful community together. 

 

3 When visiting beaches and hiking in forests, it is not allowed to drop litter or 

damage plants.  

错误的原因：visit 的逻辑主语是人，而不应该是 it 

提升的句子：When visiting beaches and hiking in forests, tourists are not allowed to 

drop litter or damage plants.  

 

4 A minor mistake may cause serious problems when setting up a business. 

错误的原因：set up a business 的逻辑主语不是 mistake 

提升的句子：People whould realise that a minor mistake may cause serious 
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problems，when running a business. 

 

 

44. 状语从句主句和从句都必须是独立的句子 

1 When come to school age, most children spend most of the day in their school with 

their teachers and classmates. 

错误的原因：when 后面要跟完整的句子，when they start school 

正确的句子：When they start school, most children spend most of the day at school 

with their teachers and classmates. 

 

2 Young girls feel they lose face if do not wear lavish clothes.  

错误的原因：if 后面句子要独立完整 

提升的句子：Young girls feel they will lose face, if they do not wear lavish clothes.  

 

3 Advanced technology provides opportunities for the people from disadvantaged 

families to earn money, although sometimes create greater wealth for the rich. 

错误的原因：although 引导状语从句，少了个主语 

提升的句子：Advanced technology provides opportunities for the people from 

disadvantaged families to earn money, although it sometimes creates greater wealth 

for the rich. 

 

4 As the increasing of people’s income, they have more money to buy the latest 

styles. 

错误的原因： as 表示原因的时候是个连词，要加句子 

提升的句子：As people’s income increases, they have more money to buy the latest 

styles. 

 

5 It is hard for you to accumulate working experience and sharpen your skills when 

you doing temporary jobs  

错误的原因：状语从句谓语不完整 

提升的句子：It is hard for people to accumulate working experience and sharpen 

their skills when they do temporary jobs. 

 

5 There is no need to kill animals , because the invention of synthetic materials which 

can produce drugs and clothes.  

错误的原因：because 从句要加句子 

提升的句子：There is no need to kill animals , because of the invention of synthetic 

materials which can produce drugs and clothes. 
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45. 从属连词 while, because, as 使用不能只有从句，没主句  

 

 

1 Young people are more willing to adopt advanced technology. Because they want 

to find jobs in the hi-tech industry. 

错误的原因：because 是连词，一定要连接两个句子。 

正确的句子：Young people are more willing to adopt advanced technology because 

they want to find jobs in the hi-tech industry. 

 

2 Because employees are likely to move to a different home, which is close to the 

company, instead of remaining living in the city center. 

错误的原因：because 是连词，一定要连接两个句子。 

正确的句子：the main reason is that employees are likely to move to a different 

home close to the company, instead of living in the city centre. 

 

3 Because athletes have strong muscles, and they may run faster. 

错误的原因：because 是连词，一定要连接两个句子。 

正确的句子：Because athletes have strong muscles, they may run faster than 

average people. 

 

 

 

46. 状语从句从句的时态   

1 The academic performance will not be improved if they are suffering from 

problems 

错误的原因: 条件状语从句不需要用进行时 

提升的句子： If students struggle with different problems, their academic 

performance can be affected.  

 

2 People could learn the dress code and business practices of companies when they 

are communicating with local workers. 

错误的原因：状语从句表示条件的时候，一般不用进行时态 

提升的句子：People could learn more about the dress code and business practices of 

companies, if they communicate with local workers. 

 

3 It is difficult to maintain contact with our family when we are living far away. 

错误的原因：状语从句表示条件的时候，一般不用进行时态 

提升的句子：It is difficult to maintain contact with our family when we live far away. 
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4 When an athlete fell behind others in a marathon, he or she should not give up. 

错误的原因：fell 过去时，在这里没有必要。 

提升的句子：When an athlete falls behind others in a marathon, he or she should 

not give up. 

 

47. 以 that 引导的名词性从句，从句一定是独立的句子  

1 Others claim that nothing can we gain from learning history 

错误的原因：that 引导的宾语从句要有独立的句子。 

提升的句子：Others claim that we can gain nothing from the study of history.  

 

2 I suppose that because with the development of the economy,  we have 

more choices in clothes.  

错误的原因：宾语从句里要有独立的句子，because 只是一个从句。 

提升的句子：I suppose that with the development of the economy,  we have 

more choices in clothes. 

 

3 Although free public transport may reduce traffic congestion, I do not agree 

that improve 24 hour bus services is a good idea. 

错误的原因：that 引导的名词性从句要加完整的句子。 

提升的句子：Although free public transport may reduce traffic congestion, I do 

not agree that the provision of 24 hour bus services is a good idea. 

 

4 Many industries, especially those in the hospitality industry, thrive because of 

Olympics Games. So that the economy will develop. 

错误的原因：so that 前面要有主句 

提升的句子：Many industries, especially those in the hospitality industry, thrive 

because of Olympics Games, so that the economy of the host country will be 

given a boost. 

 

5 It is very important that keeping with what is happening through reading news.  

错误的原因：这是主语从句，that 后面要加完整的句子。 

提升的句子：It is very important that we can keep up with what is happening by 

reading news. 
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48. That 和 whether，how, when 等词的混合使用 

 

1 People argue that whether the advertising of certain food products should be 

banned. 

错误的原因：argue 在宾语从句里意思是“认为”类似于 think，后面加 that 

提升的句子：People argue that some food advertisements should be banned. 

 

2 This diagram shows that how a small town in the UK developed between 

1990 and 2010. 

错误的原因：that 后面加独立的句子，而不是加一个名词性从句。 

提升的句子：This diagram shows how a small town in the UK developed 

between 1990 and 2010. 

 

3 The debate about that whether digital books will replace printing books has 

been heightened. 

错误的原因：使用 whether 引导名词性从句的时候，前面不需要加 that 

提升的句子：There have been debates about whether digital books will replace 

traditional books. 

 

4 People have an argument about that students should attend university or start working.  

错误的原因：表示不确定的有争议的事情，名词性从句的引导词要用 whether 

提升的句子：People have an argument about whether students should attend university or 

start working. 

 

5 I believe whether learning in a classroom or studying alone can benefit learners. 

错误的原因：既然是 believe，后面肯定是 that，而不是 whether，whether 一般是两者不确

定的时候使用。 

提升的句子：I believe that both learning in a classroom and studying alone can benefit 

learners. 
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49. 名词性从句没有先行词 

1 They can do something what they like, and do not need to obey company 

rules 

错误的原因：名词性从句不需要先行词 

提升的句子：They can do whatever they like, and do not need to obey  

company rules 

 

2 Visitors may buy things what they dislike 

错误的原因：what 事实上就是等于 things that，这里的 things 多余 

提升的句子：Visitors may buy things they dislike.  

 

50. 同位语从句的引导词有限制  

 

1 It can develop into a worse situation that students have mental problems 

eventually. 

错误的原因: situation 不能引导同位语从句 

提升的句子：In the worse cases, students suffer from mental problems eventually. 

 

2 There is a trend that people are pursuing fashion  these days and they are fond of 

buying clothes.  

错误的原因：trend 不能引导同位语从句。 

提升的句子：It is normal for many people to pursue fashion these days and buy 

expensive clothes. 

 

3 There is a phenomenon that the number of people cooking at home has fallen 

sharply.  

错误的原因：phenomenon 一般不能引导同位语从句。 

提升的句子：The number of people cooking at home has fallen sharply, while the 

growth in eating outside is phenomenal. 

 

4 Ambitious people may not be willing to share up-to-date information with 
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colleagues, thus resulting in the situation that they cannot draw upon others’ 

experience.  

错误的原因：situation 不能引导同位语从句 

提升的句子：Ambitious people  who may not be willing to share up-to-date 

information with colleagues may have no opportunities to draw upon others’ 

experience. 

51. There be 句子后不能加完整的句子 

1 There was a river crossed the area from north to south.  

错误的原因：a river crossed the area 是个独立的句子，不能放在 there be 后面 

正确的句子：There was a river which crossed the area from north to south.  

 

2 As we know, there are so many different cultures exist in the world. 

错误的原因：different cultures exist in the world 是个独立的句子，不能放在 there 

be 后面  

提升的句子：There are many cultures co-existing in the world.  

 

3 There are some measures could be taken to help those young unemployed 

to find a job 

错误的原因：there  be 后面不能加句子 

提升的句子：There are some measures that can be taken to help young people 

to find work. 

 

4 I think there are two main reasons may contribute to this phenomenon 

错误的原因：are 和 may 两个动词 

提升的句子：I think there are two factors contributing to this phenomenon. 

 

5 There are two problems affect tourists' attitude towards the host country.  

错误的原因：there be 句子后面不能加独立的句子 

提升的句子：There are two problems which affect tourists' attitude towards the host 

country. 

 

52. “there be”句型的主谓不一致问题 

 

1 There is many people who prefer to drive cars.  

错误的原因：主语是 many people，和 is 不一致 

正确的句子：There are many people who prefer to drive cars.  
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2 There is an increasing number of people who do not know how to cook.  

错误的原因：is people 主谓不一致 

提升的句子：There are an increasing number of people who do not know how to 

cook. 

 

3 There are many misleading information on the Internet 

错误的原因：information 不可数，主谓不一致 

提升的句子：Readers should be aware that there is misleading information on the 

Internet. 

 

4 There is numerous people giving priority to work 

错误的原因：people 是复数，主谓不一致 

提升的句子：There are numerous people giving priority to work 

 

53. 定语从句的谓语要完整 

1 The competition is increasingly intense so it is easy for people who occupied by 

work to ignore their family. 

错误的原因：定语从句少了个 be 动词 

提升的句子：The competition is so intense that people who are conscious of their 

career achievements tend to ignore their family. 

 

2 People who taking temporary jobs cannot gain work experience and achieve 

succeed in their careers. 

错误的原因：从句谓语不完整，succeed 是动词，不能做宾语 

提升的句子：People who do temporary jobs cannot gain work experience and 

achieve success in their careers. 

 

3 There was an increase in the percentage of people who employed by large 

companies.  

错误的原因：People who were employed 定语从句的谓语动词不完整 

正确的句子：There was an increase in the percentage of people who were employed 

by large companies.  

 

4 Those people who equipped with different skills can adapt to different jobs 

错误的原因：定语从句少了个 be 动词 

提升的句子：Those people equipped with different skills can adapt to different jobs.  

 

5 These days many people who from rural areas migrate to big cities 

错误的原因：who from 从句少谓语。 

提升的句子：Many people these days have migrated from rural areas to big cities. 
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54. 定语从句的先行词要清晰 

 

 

1 Governments can invest in building towns and cities, from which people can 

benefit more. 

错误的原因：from which 前面的先行词不清楚 

提升的句子：People can benefit from government investment in facilities, such as 

bus stops, libraries and roads, which can make urban life easier. 

 

2 By taking on part-time jobs, universities students can learn skills which cannot get 

at university.  

错误的原因：先行词“skills”充当从句“get”的宾语，那么从句缺乏一个主语。 

正确的句子：By taking on part-time jobs, universities students can learn skills which 

they cannot get at university.  

 

3 Governments can also build new schools and hospitals in suburban areas which can 

solve some basic needs of residents 

错误的原因：限制性定语从句应该修饰名词，但是 areas 不是 solve 的主语 

提升的句子：Governments can also build new schools and hospitals in suburban 

areas to meet some basic needs of residents.  

 

4 Some governments today pour money in building many libraries in towns, which 

enables more people to read books and acquire knowledge. 

错误的原因：定语从句的先行词不清晰 

提升的句子：Governments today pour money in building many libraries, which 

enable more people to read books and acquire knowledge.  

 

5 people are able to get information that they need on the internet, which is more 

convenient compared to go to libraries. 

错误的原因：定语从句的先行词不清晰; compared to 的 to 是个介词 

提升的句子：people are able to get information that they need on the internet, and 

this is convenient compared to going to libraries. 

 

55. 定语从句主谓不一致 

 

1 A growing number of companies are now considering telecommuting, which let 
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employees work at home. 

错误的原因：let 应该用单数 

提升的句子：A growing number of companies are now considering telecommuting, 

allowing employees to work at home. 

 

2 The private health care charges high fees, which excludes disadvantaged people 

from the services. 

错误的原因：定语从句的先行词和动词不一致 

提升的句子：Private hospitals charge high fees, which are unaffordable to 

disadvantaged people.  

 

3 They are always looking for the jobs which is suitable for their dreams . 

错误的原因：定语从句的谓语动词不恰当  

提升的句子：They are always looking for the jobs which are suitable for their 

dreams . 

 

4 Anti-social behaviour is the action that pose a threat to society.  

错误的原因：从句的主谓不一致 

提升的句子：Anti-social behaviour is a kind of behaviour which can pose a threat to 

society.  

 

5 People who has a strong desire to advance their career may put themselves at the 

risk of illness.  

错误的原因：从句主谓不一致，前面 people who has 

提升的句子：People who have a strong desire to advance their career are possibly at 

greater risk of illnesses. 

 

56. 关系代词错误  

 

1 The government can offer tax reductions for those companies who have performed 

well in recycling solid waste. 

错误的原因：companies 的关系代词应该用 which 

提升的句子：The government can offer tax reductions for those companies which 

have performed well in recycling solid waste. 

 

2 Of those fast-growing countries, China, which economy has been growing at 

9 per cent per year, is particularly successful. 

错误的原因：先行词 China 作从句主语 economy 的定语，不能用 which。 

提升的句子：Of those fast-growing countries, China, whose economy has been 

growing at 9 per cent per year, is particularly successful. 
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3 There are plenty of natural resources in China, most of that are unused. 

错误的原因：错误，of 是介词，后面不能加 that。 

提升的句子：There are plenty of natural resources in China, most of which are 

unused. 

 

4 Polytechnics and other institutions can provide training in car repairing, 

building and hairdressing and all of which enable young people to earn money 

earlier. 

错误的原因：定语从句关系代词前不用加 and 

提升的句子：Polytechnics and other institutions can provide training in different 

jobs, such as car repairing, building and hairdressing, all of which enable 

young people to earn money earlier. 

 

 

 

57. 限制性和非限制性定语从句分不清  

 

1 Buying luxuries can cost a lot of money which affects their living standards.  

错误的原因：这里应该用非限制，因为不可能限制 money，难道世界上有钱是可

以提高生活标准，有些钱是不能提高的？ 

正确的句子：Buying luxuries can cost a lot of money, which can affect their living 

standards. 

 

2 Young People need to adjust mentality which influence their emotions and actions . 

错误的原因：这里应该用非限制，因为不可能限制 mentality。  

提升的句子：Young People need to adjust mentality, which can influence their 

emotions and actions. 

 

3 The media have drawn our attention to Olympics which is a significant event for 

athletes.  

错误的原因：Olympics 是独一无二的东西，不可能有限制性定语从句 

提升的句子：The media have drawn our attention to Olympics, which is a significant 

event for athletes. 

 

4 Home cooking which used to be quite usual has become uncommon in many 

countries.  

错误的原因：home cooking 这个动作不需要限定，世界上不可能有很多种

Homecooking 

提升的句子：Home cooking used to be an ordinary part of daily routine but now has 
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become uncommon in many countries. 

 

5 By talking to locals, tourists can improve social skills which can help with their 

performance in workplaces.  

错误的原因：skills 不应该限定，应该是所有的交流技能都可以提高人们的工作

表现。 

提升的句子：By talking to locals, tourists can improve social skills, which are of 

benefit to their performance in workplaces. 

 

 

58. Where, when 和 why 引导的定语从句 

1 There are many foreign universities where provide good courses for international 

students. 

错误的原因：where 引导的定语从句后面缺主语。 

正确的句子：There are many foreign universities which provide good courses for 

international students. 

 

2 Too many people moving to big cities from the areas where rely on agriculture will 

put extra pressure on infrastructure construction.  

错误的原因：where 要加独立的句子；people 不能产生压力 

提升的句子：The influx of migrants can put huge pressure on the infrastructure of 

cities.  

 

3 It is a platform that people can express opinions and get some useful information 

错误的原因：这里的定语从句不应该用 that，而是 where 

提升的句子: It is a platform where people can express opinions and get useful 

information. 

 

4 They can run restaurants where sell traditional food to attract foreign visitors.  

错误的原因：where 定语从句 一定要出现独立的句子。 

提升的句子：They can run restaurants which sell traditional food to attract foreign 

visitors. 

59. 分词错误  

1 News media nowadays can deliver the latest news happened around the 

world to people. 

错误的原因：happen 不及物动词，没有被动语态，不能作为过去分词修饰名词 

提升的句子：news media nowadays can deliver the latest news and tell us what 
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is happening around the world. 

 

2 We could donate money to poor people, making their lives happy and satisfied. 

错误的原因：satisfied 不能修饰 lives，只能说人。 

提升的句子：We could donate money to poor people, and they will be happy and 

satisfied with their lives. 

 

图表作文 

60. 连词和连接词的使用错误  

1 While the number of divorces saw a different trend, rising to around 1.5 million in 

1980 and dropping to 1 million in 2000. 

错误的原因：while 从属连词，要连接两个独立的句子。 

提升的句子：By comparison, the number of divorces saw a different trend, rising to 

around 1.5 million in 1980 and dropping to 1 million in 2000. 

 

2 the number of marriages stood at 2.5 million in 1970 and 1980, however, it steadily 

decreased from 2.3 million in 1990 to 2 million in 2000. 

错误的原因：however 是个副词，不能连接句子 

提升的句子：the number of marriages stood at 2.5 million in 1970 and 1980; 

however, it steadily decreased from 2.3 million in 1990 to 2 million in 2000. 

61. 分子分母法使用错误  

 

1 South America makes up the highest proportion of world’s coffee production 

错误的原因：国家和咖啡生产不是一个概念。 

提升的句子：South America has the highest proportion of world’s coffee 

production. 

 

 

2 People in Turkey spent the highest proportion of national expenditure on food in 

2002, accounting for 32.14%. 

错误的原因：这句话的主语是 people，people 不是分子，而 people 在食品上的

花费才是分子。 

提升的句子：Turkey had the highest proportion of national expenditure on food in 

2002 (32.14%). 
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3 The number of females aged 45 to54 exercising regularly was the highest,at 53.3%. 

错误的原因：proportion 不能用 number 来替换 

提升的句子：The figure for women increased to the highest point at 53.3% for the 

45-54 age group. 

 

4 Financial reasons and employment were responsible for the 19% and 18% of the 

reasons why people chose to leave the UK. 

错误的原因：分子应该是人而不是原因。 

提升的句子：19% and 18% of people left the UK for financial reasons and job 

opportunities. 

62. 主语和表语不一致  

1 The highest proportion of profit making of coffee is companies which are 

responsible for shipping and toasting, at 55%.  

错误的原因：proportion 是百分比，companies 是公司，主语和表语不匹配 

提升的句子：The largest proportion of profit is made by companies which are 

responsible for shipping and toasting, at 55%.   

 

2 Students who find employment were the highest proportion of Australian 

graduates in 1999 and 2000. 

错误的原因： students 是人，proportion 是数字，两者不匹配。 

提升的句子：students who found employment made up the highest proportion of 

Australian graduates in 1999 and 2000. 

 

3 The proportion of students who were unemployment was the lowest 

错误的原因： unemployment 是失业（表示一个状态），而 students 是人，两

者不匹配。 

The proportion of graduates who were unemployed was the lowest. 

63. 对比的对象不一致 

1 The figure for females who do exercise on a daily basis was lower than their male 

counterparts 

错误的原因：figure 不能和 counterparts 相比 

提升的句子：Females are less likely to do exercise on a daily basis than men.  

 

 

2 Mechanization is a significant improvement in manufacturing because its accuracy 

is higher than us.  
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错误的原因：accuracy 不能和 us 相比 

提升的句子：Mechanization is a significant improvement in manufacturing because 

machines can complete work more accurately than we do. 

 


